

```

> restart :
> with(DifferentialGeometry) :
> with(Tools) : with(LinearAlgebra) :
> DGsetup([w, x, y, z, z1], M, verbose);
      The following coordinates have been protected:
              [w, x, y, z, z1]
      The following vector fields have been defined and protected:
              [D_w, D_x, D_y, D_z, D_z1]
      The following differential 1-forms have been defined and protected:
              [dw, dx, dy, dz, dz1]
              frame name: M

```

(1)

Une procédure de dérivation:

```

> Der := proc(x) evalDG( R(x)&wedge W[1] + S(x)&wedge W[2] + Tau(x)&wedge W[3]
+ L(x)&wedge W[4] + L#(x) &wedge W[5]); end proc:
> Tau := proc(x) I.(L(L#(x)) - L#(L(x))) end proc:
M > S := proc(x) simplify(L(Tau(x)) - Tau(L(x))) end proc:
> R := proc(x) simplify(L(S(x)) - S(L(x))) end proc:
> L := proc(x) local y; y := op(1, x) : if (type(x, '+' ) = true) then add(L(op(i, x)), i = 1
.. nops(x)) elif
      (type(x, '*' ) = true) then expand( L(y) . x/y + y . L( x/y ) ) elif
      (type(x, '^' ) = true) then op(2, x) . y^(op(2, x) - 1) . L(y) elif
      (type(x, function) = true) then 'L'(x) elif
      (type(x, symbol) = true) then 'L'(x) else 0 fi end proc:

```

```

> L# := proc(x) local y; y := op(1, x) : if (type(x, '+' ) = true) then add(L#(op(i, x)), i = 1
.. nops(x)) elif
      (type(x, '*' ) = true) then expand( L#(y) . x/y + y . L#( x/y ) ) elif
      (type(x, '^' ) = true) then op(2, x) . y^(op(2, x) - 1) . L#(y) elif
      (type(x, function) = true) then 'L#'(x) elif
      (type(x, symbol) = true) then 'L#'(x) else 0 fi end proc:

```

```

M > W := Vector([dw, dx, dy, dz, dz1]) :

```

```

M > dW[1] := evalDG(Tr.(W[1]&wedge W[2]) + Qr.(W[1]&wedge W[3]) + K.(W[1]
&wedge W[5]) + G.(W[1] &wedge W[4]) + Nr.(W[2] &wedge W[3]) + B
.(W[2] &wedge W[5]) + (W[2] &wedge W[4]) );

```

```

dW1 := Tr dw ^ dx + Qr dw ^ dy + G dw ^ dz + K dw ^ dz1 + Nr dx ^ dy + dx ^ dz
+ B dx ^ dz1

```

(2)

```

M > dW[2] := evalDG(Sr.(W[1]&wedge W[2]) + Pr.(W[1]&wedge W[3]) + J.(W[1]
&wedge W[5]) + F.(W[1] &wedge W[4]) + Mr.(W[2] &wedge W[3])
+ (L(B) + A).(W[2] &wedge W[5]) + B.(W[3] &wedge W[5]) + (W[3]
&wedge W[4]);

```

(3)

$$dW_2 := Sr dw \wedge dx + Pr dw \wedge dy + F dw \wedge dz + J dw \wedge dz1 + Mr dx \wedge dy + (L(B) + A) dx \wedge dz1 + dy \wedge dz + B dy \wedge dz1 \quad (3)$$

$$\begin{aligned} \mathbf{M} > dW[3] := evalDG(Rr \cdot (W[1] \&wedge W[2]) + OR \cdot (W[1] \&wedge W[3]) + H \cdot (W[1] \&wedge W[5]) \\ &+ E \cdot (W[1] \&wedge W[4]) + Lr \cdot (W[2] \&wedge W[3]) + L(A) \cdot (W[2] \&wedge W[5]) \\ &+ A \cdot (W[3] \&wedge W[5]) + I \cdot (W[4] \&wedge W[5])); \\ dW_3 := Rr dw \wedge dx + OR dw \wedge dy + E dw \wedge dz + H dw \wedge dz1 + Lr dx \wedge dy + L(A) dx \wedge dz1 \\ &+ A dy \wedge dz1 + I dz \wedge dz1 \end{aligned} \quad (4)$$

$$\mathbf{M} > dW[4] := evalDG(0 \&wedge dx \&wedge dy); \quad dW_4 := 0 dw \wedge dx \quad (5)$$

$$\mathbf{M} > dW[5] := evalDG(0 \&wedge dx \&wedge dy); \quad dW_5 := 0 dw \wedge dx \quad (6)$$

M >

M > List2 := GenerateForms([dw, dx, dy, dz, dz1], 2) : List1 := [dw, dx, dy, dz, dz1] :

M > tr1(1) := 1 :

M > tr1(2) := 1 :

M > tr1(3) := 1 :

M > tr1(4) := 1 :

M > tr1(5) := 2 :

M > tr1(6) := 2 :

M > tr1(7) := 2 :

M > tr1(8) := 3 :

M > tr1(9) := 3 :

M > tr1(10) := 4 :

M > tr2(1) := 2 :

M > tr2(2) := 3 :

M > tr2(3) := 4 :

M > tr2(4) := 5 :

M > tr2(5) := 3 :

M > tr2(6) := 4 :

M > tr2(7) := 5 :

M > tr2(8) := 4 :

M > tr2(9) := 5 :

M > tr2(10) := 5 :

M > DF := **proc**(omega) **local** T, Res; T := GetComponents(omega, List2);
 Res[1] := evalDG(add(Der(T[i]) &wedge List2[i], i = 1 .. 10));
 Res[2] := evalDG(add(T[i] &wedge dW[tr1(i)] &wedge W[tr2(i)], i = 1 .. 10));
 Res[3] := evalDG(add(T[i] &wedge W[tr1(i)] &wedge dW[tr2(i)], i = 1 .. 10));
 evalDG(Res[1] + Res[2] - Res[3]);
end proc;

$$\begin{aligned} \mathbf{M} > DF(dW[1]); \\ (Nr OR - Qr Lr - Tr Mr + Nr Sr + IL(L(L(L^\#(Nr)))) - 3 IL(L(L^\#(L(Nr)))) \\ + 3 IL(L^\#(L(L(Nr)))) - IL^\#(L(L(L(Nr)))) - IL(L(L^\#(Qr))) + 2 IL(L^\#(L(Qr))) \\ - IL^\#(L(L(Qr))) + IL(L^\#(Tr)) - IL^\#(L(Tr))) dw \wedge dx \wedge dy + (Nr E + Sr \end{aligned} \quad (7)$$

$$\begin{aligned}
& -IL(L(L^\#(G))) + 2IL(L^\#(L(G))) - IL^\#(L(L(G))) + L(Tr) \, dw \wedge dx \wedge dz + (NrH \\
& - QrL(A) - TrL(B) - TrA + B Sr + IL(L(L(L^\#(B)))) - 3IL(L(L^\#(L(B)))) \\
& + 3IL(L^\#(L(L(B)))) - IL^\#(L(L(L(B)))) - IL(L(L^\#(K))) + 2IL(L^\#(L(K))) \\
& - IL^\#(L(L(K))) + L^\#(Tr) \, dw \wedge dx \wedge dz + (-Tr + Pr - NrF - IL(L^\#(G))) \\
& + IL^\#(L(G)) + L(Qr) \, dw \wedge dy \wedge dz + (-QrA - TrB + B Pr - NrJ - IL(L^\#(K))) \\
& + IL^\#(L(K)) + L^\#(Qr) \, dw \wedge dy \wedge dz + (-IQr + BF - J - L(K)) \\
& + L^\#(G) \, dw \wedge dz \wedge dz + (Mr + G Nr - Qr + L(Nr)) \, dx \wedge dy \wedge dz + (-2NrA \\
& + B Mr - NrL(B) + K Nr - QrB - IL(L^\#(B)) + IL^\#(L(B)) + L^\#(Nr)) \, dx \wedge dy \wedge dz \\
& + (-INr - 2L(B) - A + K - GB) \, dx \wedge dz \wedge dz
\end{aligned}$$

M > $DF(dW[2]);$

$$\begin{aligned}
& (MrOR - PrLr + PrTr - SrQr + IL(L(L(L^\#(Mr)))) - 3IL(L(L^\#(L(Mr)))) \\
& + 3IL(L^\#(L(L(Mr)))) - IL^\#(L(L(L(Mr)))) - IL(L(L^\#(Pr))) + 2IL(L^\#(L(Pr))) \\
& - IL^\#(L(L(Pr))) + IL(L^\#(Sr)) - IL^\#(L(Sr)) \, dw \wedge dx \wedge dy + (MrE + Rr + F Tr \\
& - SrG - IL(L(L^\#(F))) + 2IL(L^\#(L(F))) - IL^\#(L(L(F))) + L(Sr) \, dw \wedge dx \wedge dz \\
& + (MrH - PrL(A) + B Rr + J Tr - SrK + IL(L(L(L^\#(A)))) - 3IL(L(L^\#(L(A)))) \\
& + 3IL(L^\#(L(L(L(B)))) - IL^\#(L(L(J))) - IL(L(L^\#(J))) + IL(L(L(L^\#(L(B)))) \\
& - 3IL(L(L^\#(L(L(B)))) + 3IL(L^\#(L(L(A)))) - IL^\#(L(L(L(A)))) \\
& + 2IL(L^\#(L(J))) - IL^\#(L(L(L(L(B)))) + L^\#(Sr) \, dw \wedge dx \wedge dz + (-Sr + OR \\
& - MrF + F Qr - PrG - IL(L^\#(F)) + IL^\#(L(F)) + L(Pr) \, dw \wedge dy \wedge dz + (-B Sr \\
& + BOR + PrL(B) - MrJ + J Qr - PrK + IL(L(L(L^\#(B)))) - 3IL(L(L^\#(L(B)))) \\
& + 3IL(L^\#(L(L(B)))) - IL^\#(L(L(L(B)))) - IL(L^\#(J)) + IL^\#(L(J)) + L^\#(Pr) \\
& \, dw \wedge dy \wedge dz + (-IPr + BE - H + FL(B) + FA + JG - FK - L(J) \\
& + L^\#(F) \, dw \wedge dz \wedge dz + (Lr + NrF - Pr + L(Mr)) \, dx \wedge dy \wedge dz + (-MrA + B Lr \\
& + NrJ - B Pr + IL(L(L^\#(B))) - 3IL(L^\#(L(B))) + 2IL^\#(L(L(B))) - IL(L^\#(A)) \\
& + IL^\#(L(A)) + L^\#(Mr) \, dx \wedge dy \wedge dz + (-IMr - 2L(A) + J - BF \\
& - L(L(B))) \, dx \wedge dz \wedge dz
\end{aligned}$$

(8)

M > $DF(dW[3]);$

$$\begin{aligned}
& (-RrMr + LrSr + ORTr - RrQr + IL(L(L(L^\#(Lr)))) - 3IL(L(L^\#(L(Lr)))) \\
& + 3IL(L^\#(L(L(Lr)))) - IL^\#(L(L(L(Lr)))) - IL(L(L^\#(OR))) + 2IL(L^\#(L(OR))) \\
& - IL^\#(L(L(OR))) + IL(L^\#(Rr)) - IL^\#(L(Rr)) \, dw \wedge dx \wedge dy + (LrE + E Tr - RrG \\
& - IL(L(L^\#(E))) + 2IL(L^\#(L(E))) - IL^\#(L(L(E))) + L(Rr) \, dw \wedge dx \wedge dz + (LrH \\
& - ORL(A) - RrL(B) + L(A) Sr + H Tr - RrK + 2IL(L^\#(L(H))) - IL^\#(L(L(H))) \\
& - 3IL(L(L^\#(L(L(A)))) + 3IL(L^\#(L(L(L(A)))) - IL(L(L^\#(H))) \\
& + IL(L(L(L^\#(L(A)))) - IL^\#(L(L(L(L(A)))) + L^\#(Rr) \, dw \wedge dx \wedge dz + (-Rr \\
& - LrF + E Qr - ORG - IL(L^\#(E)) + IL^\#(L(E)) + L(OR)) \, dw \wedge dy \wedge dz + (-B Rr
\end{aligned}$$

(9)

$$\begin{aligned}
& + Pr L(A) - Lr J + H Qr - ORK + IL(L(L(L^\#(A)))) - 3 IL(L(L^\#(L(A)))) \\
& + 3 IL(L^\#(L(L(A)))) - IL^\#(L(L(L(A)))) - IL(L^\#(H)) + IL^\#(L(H)) + L^\#(OR)) \\
& dw \wedge dy \wedge dz1 + (-IOR + A E + L(A) F + H G - E K - L(H) \\
& + L^\#(E)) dw \wedge dz \wedge dz1 + (Nr E - OR + L(Lr)) dx \wedge dy \wedge dz + (-A Lr + L(A) Mr \\
& - Lr L(B) + Nr H - B OR + IL(L(L^\#(A))) - 3 IL(L^\#(L(A))) + 2 IL^\#(L(L(A))) \\
& + L^\#(Lr)) dx \wedge dy \wedge dz1 + (-ILr + H - B E - L(L(A))) dx \wedge dz \wedge dz1
\end{aligned}$$

M > $BI := \text{proc}(\text{omega}) \text{ local } R, i; R := \text{GetComponents}(DF(\text{omega}), \text{List3}); \text{for } i \text{ from } 1 \text{ to } 10 \text{ do } \text{print}(R[i]=0); \text{od}; \text{end proc};$

M > $\text{List3} := \text{GenerateForms}([dw, dx, dy, dz, dz1], 3);$

$\text{List3} := [dw \wedge dx \wedge dy, dw \wedge dx \wedge dz, dw \wedge dx \wedge dz1, dw \wedge dy \wedge dz, dw \wedge dy \wedge dz1, dw \wedge dz \wedge dz1, dx \wedge dy \wedge dz, dx \wedge dy \wedge dz1, dx \wedge dz \wedge dz1, dy \wedge dz \wedge dz1]$

(10)

M > $BI(dW[1]);$

$$\begin{aligned}
& Nr OR - Qr Lr - Tr Mr + Nr Sr + IL(L(L(L^\#(Nr)))) - 3 IL(L(L^\#(L(Nr)))) \\
& + 3 IL(L^\#(L(L(Nr)))) - IL^\#(L(L(L(Nr)))) - IL(L(L^\#(Qr))) + 2 IL(L^\#(L(Qr))) \\
& - IL^\#(L(L(Qr))) + IL(L^\#(Tr)) - IL^\#(L(Tr)) = 0
\end{aligned}$$

$$Nr E + Sr - IL(L(L^\#(G))) + 2 IL(L^\#(L(G))) - IL^\#(L(L(G))) + L(Tr) = 0$$

$$\begin{aligned}
& Nr H - Qr L(A) - Tr L(B) - Tr A + B Sr + IL(L(L(L^\#(B)))) - 3 IL(L(L^\#(L(B)))) \\
& + 3 IL(L^\#(L(L(B)))) - IL^\#(L(L(L(B)))) - IL(L(L^\#(K))) + 2 IL(L^\#(L(K))) \\
& - IL^\#(L(L(K))) + L^\#(Tr) = 0
\end{aligned}$$

$$-Tr + Pr - Nr F - IL(L^\#(G)) + IL^\#(L(G)) + L(Qr) = 0$$

$$-Qr A - Tr B + B Pr - Nr J - IL(L^\#(K)) + IL^\#(L(K)) + L^\#(Qr) = 0$$

$$-IQr + B F - J - L(K) + L^\#(G) = 0$$

$$Mr + G Nr - Qr + L(Nr) = 0$$

$$-2 Nr A + B Mr - Nr L(B) + K Nr - Qr B - IL(L^\#(B)) + IL^\#(L(B)) + L^\#(Nr) = 0$$

$$-INr - 2 L(B) - A + K - G B = 0$$

$$0 = 0$$

(11)

M > $BI(dW[2]);$

$$\begin{aligned}
& Mr OR - Pr Lr + Pr Tr - Sr Qr + IL(L(L(L^\#(Mr)))) - 3 IL(L(L^\#(L(Mr)))) \\
& + 3 IL(L^\#(L(L(Mr)))) - IL^\#(L(L(L(Mr)))) - IL(L(L^\#(Pr))) + 2 IL(L^\#(L(Pr))) \\
& - IL^\#(L(L(Pr))) + IL(L^\#(Sr)) - IL^\#(L(Sr)) = 0
\end{aligned}$$

$$Mr E + Rr + F Tr - Sr G - IL(L(L^\#(F))) + 2 IL(L^\#(L(F))) - IL^\#(L(L(F))) + L(Sr) = 0$$

$$\begin{aligned}
& Mr H - Pr L(A) + B Rr + J Tr - Sr K + IL(L(L(L^\#(A)))) - 3 IL(L(L^\#(L(A)))) \\
& + 3 IL(L^\#(L(L(L(B)))) - IL^\#(L(L(J))) - IL(L(L^\#(J))) + IL(L(L(L^\#(L(B)))) \\
& - 3 IL(L(L^\#(L(L(B)))) + 3 IL(L^\#(L(L(A)))) - IL^\#(L(L(L(A)))) \\
& + 2 IL(L^\#(L(J))) - IL^\#(L(L(L(L(B)))) + L^\#(Sr) = 0
\end{aligned}$$

$$-Sr + OR - Mr F + F Qr - Pr G - IL(L^\#(F)) + IL^\#(L(F)) + L(Pr) = 0$$

$$-B Sr + B OR + Pr L(B) - Mr J + J Qr - Pr K + IL(L(L(L^\#(B)))) - 3 IL(L(L^\#(L(B))))$$

$$\begin{aligned}
& + 3 IL(L^\#(L(L(B)))) - IL^\#(L(L(L(B)))) - IL(L^\#(J)) + IL^\#(L(J)) + L^\#(Pr) = 0 \\
& - IPr + BE - H + FL(B) + FA + JG - FK - L(J) + L^\#(F) = 0 \\
& Lr + NrF - Pr + L(Mr) = 0 \\
- MrA + BLr + NrJ - BPr + IL(L(L^\#(B))) - 3 IL(L^\#(L(B))) + 2 IL^\#(L(L(B))) \\
& - IL(L^\#(A)) + IL^\#(L(A)) + L^\#(Mr) = 0 \\
& -IMr - 2L(A) + J - BF - L(L(B)) = 0 \\
& 0 = 0
\end{aligned} \tag{12}$$

M > $BI(dW[3]);$

$$\begin{aligned}
- RrMr + LrSr + ORTr - RrQr + IL(L(L(L^\#(Lr)))) - 3 IL(L(L^\#(L(Lr)))) \\
& + 3 IL(L^\#(L(L(Lr)))) - IL^\#(L(L(L(Lr)))) - IL(L(L^\#(OR))) + 2 IL(L^\#(L(OR))) \\
& - IL^\#(L(L(OR))) + IL(L^\#(Rr)) - IL^\#(L(Rr)) = 0 \\
LrE + ETr - RrG - IL(L(L^\#(E))) + 2 IL(L^\#(L(E))) - IL^\#(L(L(E))) + L(Rr) = 0 \\
LrH - ORL(A) - RrL(B) + L(A)Sr + HTr - RrK + 2 IL(L^\#(L(H))) - IL^\#(L(L(H))) \\
& - 3 IL(L(L^\#(L(L(A)))) + 3 IL(L^\#(L(L(L(A)))) - IL(L(L^\#(H))) \\
& + IL(L(L(L^\#(L(A)))) - IL^\#(L(L(L(L(A)))) + L^\#(Rr) = 0 \\
& - Rr - LrF + EQr - ORG - IL(L^\#(E)) + IL^\#(L(E)) + L(OR) = 0 \\
- B Rr + PrL(A) - LrJ + HQr - ORK + IL(L(L(L^\#(A)))) - 3 IL(L(L^\#(L(A)))) \\
& + 3 IL(L^\#(L(L(A)))) - IL^\#(L(L(L(A)))) - IL(L^\#(H)) + IL^\#(L(H)) + L^\#(OR) = 0 \\
& -IOR + AE + L(A)F + HG - EK - L(H) + L^\#(E) = 0 \\
& NrE - OR + L(Lr) = 0 \\
- ALr + L(A)Mr - LrL(B) + NrH - BOR + IL(L(L^\#(A))) - 3 IL(L^\#(L(A))) \\
& + 2 IL^\#(L(L(A))) + L^\#(Lr) = 0 \\
& -ILr + H - BE - L(L(A)) = 0 \\
& 0 = 0
\end{aligned} \tag{13}$$

M > $R1 := GetComponents(DF(dW[1]), List3) :$

M > $R2 := GetComponents(DF(dW[2]), List3) :$

M > $R3 := GetComponents(DF(dW[3]), List3) :$

M > $Nr := solve(R1[9], Nr);$

$$Nr := I(2L(B) + A - K + GB) \tag{14}$$

M > $Mr := solve(R2[9], Mr);$

$$Mr := I(2L(A) - J + BF + L(L(B))) \tag{15}$$

M > $Lr := solve(R3[9], Lr);$

$$Lr := I(-H + BE + L(L(A))) \tag{16}$$

M > $Qr := solve(R1[6], Qr);$

$$Qr := -I(BF - J - L(K) + L^\#(G)) \tag{17}$$

M > $Pr := solve(R2[6], Pr);$

$$Pr := -I(BE - H + FL(B) + FA + JG - FK - L(J) + L^\#(F)) \tag{18}$$

M > $OR := solve(R3[6], OR);$

$$OR := -I(AE + L(A)F + HG - EK - L(H) + L^\#(E)) \tag{19}$$

M > for i from 7 to 8 do $print(expand(R1[i]) = 0); print(expand(R2[i]) = 0);$
 $print(expand(R3[i]) = 0);$ od;

$$\begin{aligned}
& 3 IL(L(B)) + 3 IL(A) + IL(G) B + 3 IGL(B) - 2 IJ + IGA - IGK + IG^2 B - 2 IL(K) \\
& \quad + 2 IBF + IL^\#(G) = 0 \\
& 2 IBE + 3 IL(L(A)) + IL(L(L(B))) + IFGB + IJG + IL^\#(F) - 2 IH + 2 IFA \\
& \quad + 4 IFL(B) - 2 IL(J) - 2 IFK + IBL(F) = 0 \\
& 3 IL(B) E + 2 IEA - 2 IEK + IEGB + IL(A) F + IHG - 2 IL(H) + IL^\#(E) + IBL(E) \\
& \quad + IL(L(L(A))) = 0 \\
& 2 IL^\#(G) B - IK^2 + IL^\#(A) - 2 IL(B)^2 + 3 IKA - IL(L^\#(B)) - 2 IAGB - IL(B) GB \\
& \quad + IKGB + IGL^\#(B) - 2 IA^2 + IBL(L(B)) + 3 IL^\#(L(B)) - IL^\#(K) + 2 IBL(A) \\
& \quad - 2 IBJ - IBL(K) - 5 IL(B) A + 2 IB^2 F + 3 IL(B) K = 0 \\
& -2 IBH - IBFK - IL^\#(J) + 3 IL^\#(L(A)) - 3 IL(L^\#(L(B))) - 2 IAL(A) \\
& \quad + IL(L(L^\#(B))) - IBL(J) + 2 IAJ + 2 IB^2 E + IBL(L(A)) - IAL(L(B)) + 2 IJGB \\
& \quad + 2 IJL(B) - IJK - IL(L^\#(A)) + 3 IL^\#(L(L(B))) + IBFL(B) + IL^\#(B) F \\
& \quad + 2 IBL^\#(F) = 0 \\
& -IL^\#(H) - IBEK + 2 IL(A) BF + 3 IL(B) H + IL(A) L(L(B)) - 3 IL(L^\#(L(A))) \\
& \quad - IL(B) BE + 3 IL^\#(L(L(A))) - IAL(L(A)) + 2 IAH + 2 IHGB + 2 IL(A)^2 \\
& \quad + IL^\#(B) E - IBL(H) - IHK - IL(B) L(L(A)) + IL(L(L^\#(A))) - IL(A) J \\
& \quad + 2 IBL^\#(E) = 0
\end{aligned} \tag{20}$$

M > $solve(expand(R1[7]), J);$

$$\begin{aligned}
& \frac{3}{2} L(L(B)) + \frac{3}{2} L(A) + \frac{1}{2} L(G) B + \frac{3}{2} GL(B) + \frac{1}{2} GA - \frac{1}{2} GK + \frac{1}{2} G^2 B - L(K) \\
& \quad + BF + \frac{1}{2} L^\#(G)
\end{aligned} \tag{21}$$

M > $solve(expand(R2[7]), H);$

$$\begin{aligned}
& 2 FL(B) + \frac{1}{2} FGB + \frac{1}{2} L^\#(F) + BE - L(J) + \frac{1}{2} BL(F) - FK + \frac{3}{2} L(L(A)) + FA \\
& \quad + \frac{1}{2} L(L(L(B))) + \frac{1}{2} JG
\end{aligned} \tag{22}$$

M > $Tr := solve(R1[4], Tr);$

$$\begin{aligned}
Tr := & IL^\#(L(G)) - IBE + IH - 4 IFL(B) - 2 IFA - IJG + 2 IFK + 2 IL(J) - IL^\#(F) \\
& - IFGB - 2 IL(L^\#(G)) + IL(L(K)) - IBL(F)
\end{aligned} \tag{23}$$

M > $Sr := solve(R2[4], Sr);$

$$\begin{aligned}
Sr := & IEGB + IL^\#(L(F)) - IL(F) L(B) - IBL(E) + IL(F) K - IJL(G) - IL(F) A \\
& - IL(B) E + IG^2 J + IGL^\#(F) + 2 IFL(K) - 2 IFL(L(B)) - 4 IL(A) F - 2 IL(J) G \\
& - 2 IF^2 B + 2 IFJ - IFL^\#(G) - IEA - 2 IHG + IEK + IGFL(B) + IGFA \\
& - IGFK + IL(L(J)) - 2 IL(L^\#(F)) + 2 IL(H) - IL^\#(E)
\end{aligned} \tag{24}$$

M > $Rr := solve(R3[4], Rr);$

$$Rr := -2 IL(L(A)) F - 2 IL(L^\#(E)) + IGAE + 2 IEL(K) + IL(L(H)) - IG EK \tag{25}$$

$$-IL(A)L(F) - IL(A)E - IHL(G) + IL^\#(L(E)) - IAL(E) - 2IL(H)G + IFH \\ + IG^2H + IGL^\#(E) - 2IFBE + IGL(A)F + IEJ + IL(E)K - IEL^\#(G)$$

$$\mathbf{frame2} > \text{expr1} := \frac{\frac{1}{10} I (6L(B) + GB)}{\sqrt{B}} :$$

$$\mathbf{frame2} > \text{expr2} := -\frac{\frac{1}{10} I \cdot (-3L^\#(B) + 2BA + BK + BL(B))}{B^{3/2}} :$$

$$\mathbf{M} > \text{torsion} := \text{expand}\left(-\frac{\text{expr2}}{a} - \frac{\text{expr1}}{a} + \frac{Nr}{a\sqrt{B}}\right);$$

$$\text{torsion} := -\frac{\frac{3}{10} IL^\#(B)}{B^{3/2}a} + \frac{\frac{6}{5} IA}{\sqrt{B}a} - \frac{\frac{9}{10} IK}{\sqrt{B}a} + \frac{\frac{3}{2} IL(B)}{\sqrt{B}a} + \frac{\frac{9}{10} I\sqrt{B}G}{a} \quad (26)$$

$$> \text{Inv} := \frac{1}{2} \frac{L(B)}{\sqrt{B}} + \frac{3}{10} \sqrt{B}G - \frac{1}{10} \frac{L^\#(B)}{B^{3/2}} + \frac{2}{5} \frac{A}{\sqrt{B}} - \frac{3}{10} \frac{K}{\sqrt{B}} :$$

$$\mathbf{M} > \text{expand}\left(\text{torsion} - \frac{3 \cdot I \cdot \text{Inv}}{a}\right);$$

0

(27)

$\mathbf{M} >$